PΙ	A	NT	$\mathbf{F}\mathbf{N}'$	FFR	PR	PICEC	PRO	DII	CTION	
			1717	יועו ו		כועוכוו	1111	יטעי		

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
FORESTRY						
Pulpwood						
Hardwood				2,136	cords	
Pulpwood (Total)				2,136		
Saw Timber						
Hardwood				190,105	board feet	
Saw Timber (Total)				190,105		
Total Pulpwood, Chip & Saw,	,					\$215,488
Saw Timber FOB Mill						
Total Forestry Stumpage						\$97,338
Christmas Trees	*			750	trees	\$30,000
Forestry (Total)						\$245,488
FRUITS						
Blackberries	10	2.0	900.00	1,800	pints	\$1,800
Citrus						
Satsumas	*	2.0	400.00	800	bu.	\$8,000
Citrus (Total)		2.0				\$8,000
Figs	*	5.0	400.00	2,000	lbs.	\$2,400
Peaches	*	8.0	250.00	2,000	bu.	\$60,000
Fruits (Total)		17.0				\$72,200
FEED GRAINS						
Corn	*	926.0	85.00	78,710	bu.	\$180,246
Grain Sorghum	*	304.0	74.00	22,496	cwt.	\$89,984
Feed Grains (Total)		1,230.0				\$270,230
HAY FOR SALE						
Grass	60	9,500.0	3.00	28,500	tons	\$1,425,000
Hay for Sale (Total)		9,500.0				\$1,425,000
HOME GARDENS	64,350					\$19,305,000

PI.	ANT	ENTER	PRISES	PRODUCTION
\mathbf{L}		יועו דועו		1 133717073 1 13713

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
NURSERY CROPS						
Floraculture & Bedding	*				acre	\$1,750,000
Plants						
Woody Ornamentals	*				acre	\$500,000
Foliage Plants	*				acre	\$500,000
Nursery Crops (Total)						\$2,750,000
PECANS						
Improved	240	60.0	500.00	30,000	lbs.	\$34,500
Native	1,080	540.0	500.00	270,000	lbs.	\$162,000
Pecans (Total)		600.0				\$196,500
RICE	30	5,319.0	59.44	316,161	cwt.	\$1,754,694
SOYBEANS	10	2,239.0	34.00	76,126	bu.	\$506,238
SUGARCANE						
Raw Sugar	32	16,034.0	6,510.00	104,381,340	lbs.	\$12,734,523
Molasses		16,034.0	195.00	3,126,630	gal.	\$453,361
Sugarcane (Total)		16,034.0				\$13,187,885
VEGETABLES						
Cucumber						
Fresh	10	1.0	315.00	315	bu. (50 lbs.)	\$3,150
Pickling	*	275.0	275.00	75,625	bu. (50 lbs.)	\$226,875
Cucumber (Total)		276.0				\$230,025
Eggplant	10	1.0	650.00	650	bu. (33 lbs.)	\$9,750
Mustard (Fresh)	8	1.0	600.00	600	doz. bunches	\$4,200
Okra (Fresh)	10	5.0	250.00	1,250	bu.	\$25,000
Peppers						
Bell	10	1.0	616.00	616	bu. (28 lb.)	\$9,240
Peppers (Total)		1.0			. ,	\$9,240
Shallots	8	1.0	1,122.00	1,122	doz. bunches	\$5,610

PLANT ENTERPRISES PRODUCTION

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
VEGETABLES						
Snap Beans (Fresh)	6	1.0	125.00	125	bu. (30 lbs.)	\$2,500
Southern Peas (Fresh)	10	1.0	75.00	75	bu. (24 lbs.)	\$1,500
Squash (Fresh)						
Yellow Squash	7	1.0	135.00	135	bu. (45 lbs.)	\$1,620
Zucchini Squash	7	1.0	120.00	120	bu. (45 lbs.)	\$1,200
Squash (Fresh) (Total)		2.0				\$2,820
Sweet Corn (Fresh)	10	14.0	630.00	8,820	doz. ears	\$26,460
Tomatoes (Field)	10	1.0	1,200.00	1,200	lugs (20 lbs.)	\$18,000
Turnips (Fresh)	10	1.0	600.00	600	doz. bunches	\$4,200
Vegetables (Total)		305.0				\$339,305
WHEAT	*	430.0	58.00	24,940	bu.	\$80,307
TOTAL ALL PLANT ENTERS	PRISES					\$40,132,846

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION

Fisheries	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
AQUACULTURE					
Crawfish (Farm)	40	4,000 Acres in Prod.	2,600,000	lbs.	\$1,690,000
Oysters	10		267,850	sacks	\$4,553,450
Aquaculture (Total)					\$6,243,450
FRESHWATER FISHERIES					
Crawfish (Wild)	20		13,500	lbs.	\$7,020
Catfish (Wild)	*		1,300	lbs.	\$607
Gar	*		130	lbs	\$120
Other Finfish	*		25	lbs.	\$5
Freshwater Fisheries (Total)					\$7,752

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION

Fisheries	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
MARINE FISHERIES					
Crabs	19		231,730	lbs.	\$148,771
Marine Fisheries (Total)					\$148,771
FUR ANIMALS			154	pelts	\$816
HONEY	15	3,000 No. Hives	350,000	lbs.	\$472,500
TOTAL ALL FISHERIES	& WILDLIFE ENTERPRISES				\$6,873,288

ANIMAL ENTERPRISES PRODUCTION

	Number of	Units of	Total	Units of	Gross Farm
Animal	Producers	Production	Production	Measure	Value
CATTLE & CALVES					
Steer Calves					
300-400 lbs.			1,300	head	\$472,381
400-500 lbs.			2,300	head	\$961,412
500-600 lbs.			850	head	\$390,550
600-700 lbs.			250	head	\$130,000
Steer Calves (Total)					\$1,954,342
Heifer Calves					
300-400 lbs.			850	head	\$272,094
400-500 lbs.			1,250	head	\$471,206
500-600 lbs.			1,000	head	\$425,920
600-700 lbs.			600	head	\$292,500
Heifer Calves (Total)					\$1,461,720
Yearling Cattle					
600-700 lbs.			700	head	\$364,000
700-800 lbs.			700	head	\$393,750
Yearling Cattle (Total)					\$757,750

ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production		Total Production	Units of Measure	Gross Farm Value
CATTLE & CALVES	110 444 615	1100000		110000		
Cow-Calf Pairs				800	pair	\$576,000
Cull Cows				1,300	•	\$429,293
Cull Bulls				,	head	\$182,625
Cattle & Calves (Total)	225	9.500	No. Cows			\$5,361,729
HORSES		. ,				¥- y y
Brood Mares						
Race Horses	100	1,300	No. Brood Mares	1,000	head	\$6,000,000
Show Horses	20	100	No. Brood Mares	75	head	\$225,000
Recreation Horses	100	150	No. Brood Mares	100	head	\$150,000
Brood Mares (Total)						\$6,375,000
Stud Fees						
Race Horses		60	No. Stallions	1,200	mares bred	\$3,000,000
Show Horses		20	No. Stallions	75	mares bred	\$112,500
Recreation Horses		15	No. Stallions	125	mares bred	\$12,500
Stud Fees (Total)						\$3,125,000
Race Horses	150			450	head	\$4,500,000
Show Horses	450			1,000	head	\$4,000,000
Recreation Horses	900			1,800	head	\$1,800,000
Horses (Total)						\$19,800,000
RATITE AND OTHER EXOT						
Emu	*	20	Breeders	20	each	\$1,000
Ratite and Other Exotic Fowl (Te					\$1,000
QUAIL	*	300	No. Breed Stock	3,000	each	\$6,000
SHEEP						
Wool		350	No. Sheared	1,750	cwt.	\$280
Slaughter Lambs				200	head	\$19,625

ANIMAL ENTERPRISES PRODUCTION

	Number of	Units of	Total	Units of	Gross Farm
Animal	Producers	Production	Production	Measure	Value
SHEEP					
Feeder Lambs			35	head	\$2,258
Show Lambs			35	head	\$9,625
Stocker Sheep			25	head	\$1,188
Cull Sheep			75	head	\$2,625
Sheep (Total)	30	350 No.Breeding			\$35,600
		Ewes			
GOATS					
Show Goats			30	head	\$4,500
Slaughter Goats			100	head	\$8,500
Stocker Goats			30	head	\$1,950
Cull Goats			25	head	\$1,050
Goats (Total)	20	150 No. Does			\$16,000
SWINE					
Show Pigs				head	\$7,500
Feeder Pigs			225	head	\$4,050
Slaughter Hogs			25	head	\$3,088
Culls			15	head	\$1,650
Swine (Total)		No. Sows			\$16,288
EXOTIC ANIMALS					
Deer/Antelope	*	400 No. Animals	300	head	\$37,500
Exotic Animals (Total)					\$37,500
TOTAL ALL ANIMAL EN	TERPRISES				\$25,274,117
LAFAYETTE PARISH	TOTAL				\$72,280,251